‘Practice: Calculate the lattice energy for MgCl..

The sublimation energy for magnesium is 148 kJ/mol

The 1%t ionization energy of magnesium is 738 kJ/mol

The 2" jonization energy of magnesium is 1450 kJ/mol
The bond energy for CI—Cl is 243 kJ/mol

The electron affinity for Cl is =349 ki/mol

The standard enthalpy of formation for MgCl, is —-641.3 kJ
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Mg(s) + Cl,(g) = MgCl,(s) AH,° = —641.3 kI

Mg(s) 2 Mg(g) 148 k)

Mg(g) 2 Mgt(g) +e~ .- 738 kJ
Mg*(g) > Mg?*(g) +e~ 1450 kJ
Cl,(g) = 2 Cl(g) 3 243 k)
2( Cllg)+e>Cl(g) ) 2 (-349kl )
Mg2*(g) + 2 Cl~(g) > MgCl,(s) AH ¢
Mg(s) + Cl,(g) > MgCl,(s) —641.3 kI

148 k) + 738 k) + 1450 kJ + 243 kJ + 2(~349 ki) + AH, = —641.3 k]
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